f*MIFE4A18 f[MIES5A18
AR 5 % | WHEH AR F X |
EEXEd | 36,199] 17,900 18,299 15,538 EEXEm | 36,125 17,862 18,263 15,537
A= iz 23,229 11,407( 11,822 9,974 A= iz 23,188 11,387 11,801 9, 981
1L 75 i 4,969 2,486] 2,483 2,171 1L 75 i 4,961 2,487 2,414 2,179
EfhiE 2,530 1,312 1,218 1,094 Ef0hiE 2,519 1, 306 1,213 1,091
#1133 2, 649 1,321 1,328 1,111 #1131 2, 640 1,316 1,324 1,110
{EIBIT L gk 2,822 1,374 1,448 1,182 TEIBIT L gk 2,817 1,366 1,451 1,176
fMIE6A1B fMIEIAIB
AR 5 % | WHEH AR ) X |
EEXEd | 36,110] 17,875 18,235 15,542 BEEXKEH
K= iz 23,191] 11,407( 11,784 9,990 K= iz
1L 75 i 4,950] 2,482 2,468 2,176 1L 75 i
EfhiE 2,512 1,304 1,208 1,090 EfhiE
#1133 2,639 1,314 1,325 1,112 #1131
{EIBIT L gk 2,818 1,368 1,450 1,174 {EIBIT L gk
f[MIE8A1E f|HMIEIAIB
AR 5 % | WHEH AR F X |
HEXET HEXET
KE i KE i
1L 75 Hhigh 1L 75 Hhigh
etk etk
#1131 #1131
fEN AT L Hh 3 fEN AT L Hh i
SFMIEI10A1H SMIEI1A1R
AR 5 % | WHEH AR ) X |
HEXET HEXET
KE i KE i
1L 75 Hhigh 1L 75 Hhigh
KM i KI5
#1131 #1131
AT L Hh i fEN AT L Hh i
*MIE12A1H fM8FE1AIE
AR 5 % | WHEH AR ) X |
HEXET HEXET
KE s KE i
1L 75 Hhigh 1L 75 Hhigh
KI5 KI5
#1131 #1131
fEN AT L Hh 3 AT L Hh i
fM8FE2A18 [M8E3IA1H
AR 5 % | WHEH AR ) x| tEH
HEXET HEXET
KE i KE i
1L 75 Hhigh 1L 75 Hhigh
etk Etiibied
#1133 #1133
fEN AT L Hh i fEN AT L Hh i




